Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4214-15.dwg

POWERED BYl_"
il

ENDURA

DOOR COMPONENTS MADE IN THE USA

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ D R = 6 1 1
The Fiberglass Door system described herein complies with the 2018 Infernational
Residential Code (IRC), Sections R301 & R460% and the 2018 International Building
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following
conditions:

Anchors shall be os listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-borne debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.
Allowable design pressure requirements must be equal o or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION

1 Typical elevations, design pressures & general notes
Door panel details {lip lite insert glazing)
Slidelte panel details {lip lite insert glazing)

Horizontal cross sections
Vertical cross sections
Vertical cross sections
Frame anchoring

Niosjon LN

112.19" MAX. OVERALL

FRAME WIDTH

81.94" MAX. OVERALL

FRAME HEIGHT {INSWING)

81.125" MAX. OVERALL
FRAME HEIGHT (OUTSWING)

uj

]

ey 0

o 4

Ex g d

-C* 0 z

Q ' ] £

0 Om O

2 Z &

™ lfs w

gg g5 2

I 4

T 202 &

g‘l- =0 =

2 Jge @9
2>mK
go"
GR"° )

& ON = g

[

© %éz L.

® £mgy O

g 2s5 g

] 59c¢ %

& oo S

3

C S:

o G;

E g

=

o

o

o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

TYPICAL ELEVATION, DESIGN
PRESSURES & GENERAL NOTES

LFS| PART OR ASSEMBLY:

LFS
LFS
BY

REVISIONS

11/7/18 |REVISED TO INSERT GLAZED ONLY| MT

11/10/21{UPDATE TO 2018 IBC/IRC CODE
1/07/14 |ADDED ARTICULATING SILL

OXO | LIP LITE INSERT INSWING +40.0

-45.0

2 {11/02/16|ADDED THRESHOLDS

-

L

4

NOJ DATE

OXO | LIP LITEINSERT | OUTSWING +45.0

-50.0

oATE: 8/09/12

scalt:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4214

sieer 1 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



"ONI SLNVLINSNDOD SNITTINg “M'¥ 2102 O

S ol do oo | (oNizylo 143N 3N o) g — ST Ton
STVL3A TINvd %000 N lelol < N
L616°689°CL8 “ON oUOUd S41 TS ONIVINOIYY 03dav|v1/20/1 [ 1 ||| T |
GBSEE 14 OSHIDA OEZ Xo8 'Oy \Su 'ATENISSY ¥0 1dvd ['s47 SAIOHSIYHL_(3aav|eL/zo/ii] 2 ||| |7 Y| 6
“ONI “SINVLTASNOO ONIGHNE \&. IW [AINO_G3Zv19 L¥3SNI Ol adsinad| s1/z/ti | € |R|=%| | |2 ] 2_
S41] 3009 2dI/281 8102 0L 3Avadn|iz/oL/it] ¥ |®] |5 ] Ele ¥
£ZLYOL# "3'd SvXal VANAN3 i m olx|Z &
“F'd IPIWYDS "4 uopulkl kg pedodeld sjuswnoog 110NA0Nd zl g W 5 m z
&
O =
DE.\. :N.‘. _ O
& O
7z ! S
L 3 = kY . FEE B et ]
L rV.v». . g v g c.a e e ﬁ”_ m
L a = 9, .Y . . .
.b.. . . . \“”” H. e . v xd ......; o
) - oA . vV -1 "Wm Q. - v - .4... : ; C
P = T < oy B PR el
IR R IRRGe 1 s B
i g n
J . \ =
. g -
= z &
z o T sz NN
oD - O =
o S ¥ 59
== = Q9
S50 3=
- _.WN._. e m m m
y =)
<
\ © ;
! v
n “d 9 8 9
< 3 5
o O )
jury - D (]
& = > < o o
uA». S m Lii LL} [T}
s . w z 0 £
«~ a z &8 ¥
——1] S N B 2o
< & T ¢
= / -
et |- T = 7 © 3
oL = 7 e
Y o [ &
.b ' P C- «w. ..ahw A muu
T e 5 o =]
“ n. . & Ab
. O o &0
w et * Q'
- Qe
™ 52
- n.- ,,,,, o8
o m @
O L o o
& 5 9 o &
o T & &l 2
a o = 2O
{24 -~ e
m o [ D 1/ 77 z
Q \ = &) —
o2 A\ i} ~ > o]
= # 5 < »© -
Z i - £*S
B S
Lo
o
O
T
mw
i N
o8y
. ® 55
P ey Q| = 55
@ .ca....AA @ TSI.Wunmvv
AR S8
= R =
I N s
A s
B e KR = b
S RS o 5 B2 x
.- L < e > = P
S % 2 29 IHOEH '0'T'd
Lo \m o 2> XVI 069
_— = Nz 20
| - 8% &3
! IHOEH 13NVd
4000 'XVW .ST6.L

CAP (PVC)

0.4" ——

BmMp S L-pL2r-X1\020Z AJW\sBumesq - D\Z19 ysni4 ssejbieqiy oidiseld L19-¥A - 1QL\sUl 40 3daQ sexa] - S\LNINVNYId eINPUINSIUSIONZ



"ONI BANVLINSNOD SNIGTUHNE MM 2102 ©

vy

ZG811—4 # NOUVMISIONN 40 3ILVOI4ILNID SNOISIATY
SYIANIONT TWNOISSAAOHd 40 GNVOS SvXIL (ONIZV19 LY3SNI 3L dilT) A8 31vd JON
SUVI3A TINVd 3LN30Is 5 N aleln] < 7_
L616°659°CLE ON SUOUd . TS ONLYINJILEY 030av|vL/20/1 | | ||| S|
S6S£C "4 OSUIDA 0FZ X08 'O'd \S@% XTBNISSY ¥0 14vd [ <47 SOHS3HL_03dav|91/20/11] 2 | o' Q|8
“ONI ‘SINVIINSNOD ONIgTING 1N [XINO d32v19 1¥3SNI OL d3siad| gi/z/it] £ |R| < RERER 3_
S47| 3000 28l/9dl 810Z OL 3vadniiz/oi/Li] + 1™ |5l gle X
Z M~
STLHOLF ‘T'd SWEL VHNAN3 5| m || B
‘I'd IPRUYOS ‘d uUOpukl  :Ag peupdeld sjuUSWNDOQ ondosd 2181213 m £
o)
O b
AN & Al '®)
£ =
w O
re}
! o«
N N M <, L. . v ] betd
...». b . a8 L. S, . SN ¥ L ..H : m— m
Yo ».v 4 SN Y < . oL
- . * s [ . -V R Ea 4 . . A
. : C A S b = v o Y e WY Q
S R N Y LR .. v = ~
o PR - ,.\. T g N .ﬂ“_ fAb
cG Gc =
ac
w
5 z ’ >
4 L <
5 : g
= & T = Nj™
= [ofiT — o=
og z =3
== © = Q0
< m 2 = =
O l=E
_ bl ..AL =
& G Ox
: O in
o [
« & o 3
a . .
<
« s & O o
T
* =,
AN o [7¢] (753
- - < 3 5
T / 5 0 O
> “ v..b 4 = M m m
£ . 3 .....Vh_‘ zZ BHw O
S = e . o L M W C W
A =l O < i}
. e & Z =5 =
Co.L L2 N bx o
u.v, L5 e A =~ o< = 3
N L B g =
4 pa aa E * V/i w M
. - o 7 o M
3 5 @ 2
£
5 2 B
O o O
F t
[0
£
2
a
w—d

GLAZING DETAIL

y

@)

INTERIOR
EXTERIOR

LOW TACK SEALANT

A\
A\

/1,
L/

#6 X 1-1/2" PH SMS

INTERIOR
EXTERIOR

m HORIZONTAL CROSS SECTION

4
“ 4
b
PLASTPRO
Insert glozed
[fiberglass)

AR ey
w./z ’ ve . IW\ g
o r Sr = <= T
R = 2 %o IHOEH O'Td
L ..m \ m_d ﬂ nM W. X(E :O.MO
C ~ = O AU.
8% ag
IHOEH 1ENVd
.1 o JO0A XYW 8T 6L

CAP (PVC)

04" —=| |=—

BMP'SL-tLZb-X1\020Z AFH\sBUIMEIQ - D\Z1D ysni4 ssejbiaqid osdiseld L19-¥Q - 1GL\sul jo 3daq sexa - S\LNINVINYId eINpug\siuald\'z



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4214-15.dwg

SIDELITE PANEL / EXT. SHEATHING
p
EXTERIOR I S

¥ D
1\\\\\.\'\.‘\"

//

[
//!N‘/ﬂﬁ»/)/'fﬁf

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

2X FRAMING
@ . (G >=0.42)

#8 X 2.5" COURSE THREAD

06

DRYWALL SCREW V.. /
- (See Note 1 ) FISLIITEEIEFIL 4T
< /
[
. (780/985) INTERIOR
T~ LATCH: KWIKSET SIGNATURE SERIES
(991) JAMB

\ \~ DRYWALL
#10 X 2.5" PFH
1/4" MAX.

WOOD SCREW

SHIM SPACE

CORNER PADS (TYP.)

/

0.7&" —I*—»‘

4.56"

JEE———— S S—

1.25"

JAMB / HEAD
PINE

NOTE:

4.35"

2.5
FATBOY MULLION

PINE

1. Spacing for sidelife screws: 6.5", 38.5"
and 69" from head to sill (3 total).

1"\ HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

/
<7
\ L DEADBOLT: KWIKSET SIGNATURE SERIES
7
///
/
q
4

4" HINGE

/ #8 X 1" PFH SMS

=
/ 2
\\— SIDELITE PANEL

#8 X 3/4" PFH SMS
#8 X 2.5" PFH WOOD SCREW

SIDELITE PANEL —\

S

DOOR PANEL LATCH STRIKE PLATE

#8 X 2-1/2" PFH WS
/ /

A GasEe | BeondabAth s

\\

ENDURA WEATHERSTRIP
(QEBD 650)

#8 X 2.5" COURSE THREAD
DRYWALL SCREW ——
{See Note 1)
4-3/8" FATBOY PINE MULLION —/

3"\ HORIZONTAL CROSS SECTION
W Qutswing shown - Inswing also approved

#8 X 2.5" COURSE THREAD /
DRYWALL SCREW

(See Note 1)

4-3/8" FATBOY PINE MULLION /

m HORIZONTAL CROSS SECTION
w Outswing shown - Inswing also approved

DOOR PANEL

P.0. Box 230 Valrico FL. 33595

Phone No.: 813.659.9197

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

Documents Prepared By

CERTIFICATE OF REGISTRATION # F-11852

HORIZONTAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS
FS
BY

REVISIONS

11/7/18 |REVISED TO INSERT GLAZED ONLY| MT

11/02/16|ADDED THRESHOLDS
1/07/14 |ADDED ARTICULATING SILL

4 |11/10/21|UPDATE TO 2018 IBC/IRC CODE

NO. DATE

FONG ™

oATE: 8/09/12

ScAlE:  NT.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4214

sHEer 4 ofF 7

© zo12 R.W. BUILDING QONSBULTANTS IND,



ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4214-15.dwg

~ >'(_‘

2X FRAMING
(G >=0.42)

EXT. SHEATHING \ ] S /DRYWALL

1/4" MAX.

SHIMSPACE  ~—_ filllf

L— #10 X 2.5" PFH

WOOD SCREW

0.15"
C'SINK
(TYP.)

DOOR PANEL -—\
\— HEAD

..._....{_-._.

ENDURA WEATHERSTRIP

(QEBD/PE 650)

EXTERIOR W INTERIOR

/1" VERTICAL CROSS SECTION
w Outswing shown - inswing also approved

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

813.659.9197

NOTE:
Spacing for sidelite screws:
¢" from each end (2 total).

1.

2X FRAMING
(G >=0.42)

Il ' / EXT. SHEATHING

Ul— #10x 2.5"PFH
W]  WOOD SCREW

DRYWALL \ o

174" MAX.

SHIMSPACE |-

AERTATLLARRAARA RS
e
"3

0.15"
C'SINK
(TYP.)

SIDELITE PANEL \

#8 X 2.5" COURSE THREAD
DRYWALL SCREW —— |
{See Note 1)

INTERIOR

ui

k HEAD

EXTERIOR

N

\\\.\;\\\ AV AVAY

X

2\ VERTICAL CROSS SECTION
w Inswing shown - Outswing also approved

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By:

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—~11852

ENDURA
VERTICAL CROSS SECTIONS

PRODUCT:

LFS | PART OR ASSEMBLY:

LFS

)
Y

REVISIONS

11/7/18 IREVISED TO INSERT GLAZED ONLY| MT

11/10/21[UPDATE TO 2018 IBC/IRC CODE
11/02/16|ADDED THRESHOLDS

1/07/14 |ADDED ARTICULATING SILL

'

NOJ DATE

4

]

2

DATE: 8/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4214

SHEET _5 oF _7

© zo12 R.W. BuILDING CONSBULTANTS IND.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4214-15.dwg

ENDURA
EESE‘E DOOR SWEEP
AN (DBK-R)

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION

6

w Inswing Adjustable Threshold

SIDELITE
PANEL

#8 X 2.5" COURSE THREAD
DRYWALL SCREW
(SEE NOTE 1)

A\ Y

ENDURA
DOOR SWEEP

V26 600T

EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

7“2\ VERTICAL CROSS SECTION

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" DeWALT OR [TW CONCRETE SCREW

/ 4\ VERTICAL CROSS SECTION

W Inswi

- 456" !
INSWING ADJUSTABLE THRESHOLD

ZAIL4565

INSWING ARTICULATING THRESHOLD

ZIACLA4565

! 456" -

@ OUTSWING THRESHOLD

10BL4565

ng configuration

456" |

INSWING ADJUSTABLE THRESHOLD

ZAI4565FN

456" |

INSWING ARTICULATING THRESHOLD

~J

ZACA4565FN

456" 5

12 OUTSWING THRESHOLD

ZOBA4565FN

w Inswing Articulating Threshold

#8 X 2.5" COURSE THREAD —]

DRYWALL SCREW
(SEE NOTE 1}

INTERIOR

SIDELITE

PANEL \

ENDURA WEATHERSTRIP
(QEBD/PE 650)

INTERIOR

#10 X 2.5" PFH WOOD SCREW OR 1.
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

S LG et

DEE \ P B
PANEL & 1k
'/ !jf Ty

b=t ENEE :

m’%%': : :
. & O 3 E

g C E- SN

EXTERIOR

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

NOTE:
Spacing for sidelite screws:
6" from each end {2 fotal).

/3" VERTICAL CROSS SECTION

EXTERIOR

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW

/"5 "\ VERTICAL CROSS SECTION

\6_/ Outswing configuration

- 456" |

3 INSWING ADJUSTABLE THRESHOLD

LAILAA4565

! 456" !

=g
B

8 INSWING ARTICULATING THRESHOLD 9

IACLAA4565

! 456" |
13) QUISWING THRESHOLD

ZOB4565RDS

! 456" !
INSWING ADJUSTABLE THRESHOLD

ZAIAA4565FN

. 456" 1

INSWING ARTICULATING THRESHOLD

IACAA4565FN

w Cutswing Bump Threshold

4.56" !
INSWING ADJUSTABLE THRESHOLD

—-—1 1.34"

(¢}

ZAI4565RDS :

4.56" !

10 INSWING ARTICULATING THRESHOLD
ZACA4565RDS

P.O. Box 230 Vairico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

VERTICAL
CROSS SECTIONS

ENDURA
FIBERGLASS DOOR

PRODUCT:

LFS

LFS

11/02/16|ADDED THRESHOLDS/REVISED DP | LFS | PART OR ASSEMBLY:

11/7/18 |REVISED TO INSERT GLAZED ONLY| MT
1/07/14 |ADDED ARTICULATING SILL

11/10/21|UPDATE TO 2018 IBC/IRC CODE

NO. DATE

M N

REVISIONS

baTE: 8/09/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4214

SHEET 6 oF 7

©2zo12 R.W. BUILDING CONSULTANTS ING.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-611 Plastpro Fiberglass Flush GLZ\C - Drawings\REV 2020\TX-4214-15.dwg

s %.: 2X framing (by others) gg
Qo< 53 o B o
':“ 29 o 6" Eg‘; o Hm
¥90 " o 5 (8 Zr
=+ 8 (TYP) oy dm 8y
< 8 (TYP.) I—" & L £ rf 5 G
FE S
t“ (TYP) §§ £od 32,
NN - T ! i 5% 5t g8
SEE HINGE —_ | I \. ‘T : g7 E
DETAIL 1 ~ER [ #10 X 2.5" PFH DE[AIL 1 DETAIL 1 o s 98% g
= — = =z ) g o
in WOOD SCREW o 5 Z ° oxz %
< (TYP. @ HEAD = F oo E E%90 9%
P AND JAMBS) = S & 508 Bu
5] > mon <
g O & 8é
B ° 5 2 § m%
o \ | s
g . KB
1 lﬁ 3
SEE HINGE B 1A
DETAIL 2 SEE STRIKE _/ I #8 X 3' COURSE
DETAIL w DRYWALL SCREW 2
N . S
a8 DETALL 2 DETAIL 2 g |.&
o |3 %
& l i i I DETAIL 1 oy =
- - . —- Integral mullion attachment a3
% ey —| .. LE:
£ (TYP) —=| | |=— #8 X 3" COURSE & x
2" (TYP) —] | #10 X 2.5" PFH WOOD SCREW DRYWALL SCREW NE 3 e
H A\ '.\\.§
FLOOR SUBSTRATE MATERIAL (TYP.) ¢ 1/4'X2-3/4'DeWALTOR  crpivr 1AMB oy 3 £
HINGE JAMB CONCRETE [MIN. 3000 PS! MW CONCRETESCREW ~ S-—m=——2= N\
AR G om0 42; FRAME ANCHORING (TYP @ SILL) plslelel
e OXO
DETAIL 2 <
Integral mullion attachment L g‘
o
*NOTE: These anchors required for D.P. > 45 PSF. z a1,
<3 3
/#BXZ-I/"PFHWS A2 1| 2
B0z e
xSIE 12
[e [l @ QlslRe|s| B
#8X 1 PFH Ws <fo F SIEER [
e Hlo == #8 X 3/4" PFH WS EE§E 2
~— 4" X 4" HINGE wialolS
\ %)
CONCRETE ANCHOR NOTES: \ W NEEE
1. Concrete anchor locations at the corners may be adjusted to maintain the min. 3 x ; <
edge distance to mortar joints. ANSI DEADBOLT HINGE DETAIL 1 N 2 N S
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to STRIKE PLATE OIN N bE
maintain the min. edge distance to mortar joints, additional concrete anchors #10 X 3 PFH WS (4) T A\ }>>§o
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 3 P #8 X 2-1/2" PFH WS ha N A .
3. Concrete anchor table: T N > e e %
#8 X 2-1/2" PFHWS (2) —_ . 4,- Lol | oaTe: 8,/09,/12
i LATCH STRIKE HBXT'PFHWS <o 1 ®== u4gX3/4'PFHWS (st N.T.S.
\ PLATE "~1— 4" X 4" HINGE owe. BY:  JK
A\
® \ cHk. B:  LFS
g”;;ﬁ“r‘ STRIKE DETAIL DRAWING o
e " " " " HINGE DETAIL 2 TX—4214
ULTRACON®| V/4 1-3/4 1 3

sHEer 7 oF 7

© 2012 R.W. BUILDING CONSULTANTS INC.



